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WORLD HISTORY- 31 MARCH

QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
Answer must be written in the medium authorized in test series application form.
Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to questions No. 11 to 20 should be in 250 words.
Keep the word limit indicated in the questions in mind.
Any page or portion of the page left blank in the Answer Booklet must be clearly struck off.

Maximum Marks :250

Q.1.The fight on the Korean peninsula was a symbol of the global struggle between two opposing ideologies. In this context, discuss the
developments that led to the Korean War from 1950-53. Also, give an account of the results of the Korean War.
HINITS IIEdT TR 3T IAT Jeor & faodie FararR-aRi3it & afRaeh Fey & Yclleh AT) $7 TRUET H 3o TAThAT h =i Y St 1950-53 & & HIRATS
g 1 HROUT Tl | SH AIY 81, HINATS & o TROMAT T [qe=or 8 e v
(Marks:10, 150 words)
Q.2.Imperialism of United States was different from that of European powers, which were dependent on use of force and direct conquests. Examine.
“TYF T AR FT FHSIATE ST FITT FAT Fe et faerall ux MR JANT AfFdt & FraATsTdTe & g AT | TIeTor HfSe
(Marks:10, 150 words)
Q.3.Explain the reasons for the break-up of Soviet Union. What consequences did it have for India?
AIIT Her & faeres & HRON H1 AEIT FITT| TR & T SR 21 TROTH gU ?
(Marks:10, 150 words)
Q.4.The Cold War was a geopolitical, ideological, and economic struggle between two world superpowers. Discuss. What were the factors
responsible for the end of the Cold War?
oha-geer, faea & ar Hgrerfereral & drer veh o Tstelfcien, Femer oam 3nTe Fed a1 ==t RfSw) N Jeer Hr FATTT & fIT 3overs HROT T F 42
(Marks:10, 150 words)
Q.5.While there were some similarities between Hitler's Nazism and Mussolini’s Fascism, there were certain fundamental differences as well.
Discuss.
e fgeeR & wATsiiare TUT FATTel=1T & Bretare & & Fo AT AT TUMT Soieh drer Fo TR 3eR 87 fegamer & ==t Hifsre
(Marks:10, 150 words)
Q.6."If the conquests of Napoleon were ephemeral, his civilian work in France was built upon granite." Discuss the statement in the context of
Napoleon Bonaparte's contributions to the institutions of France and to Europe as a whole.

"I Aqoret #r fasrd &1fOres ot iy shid 3 36eh g@RT fohT 91T AT & 31 T fearrs &1 e qur Faed I Hr FEA13it & gfd Aot

FATITE & ARSI & TG H 5T U I TdT HIfST)
(Marks:10, 150 words)

Q.7.Even though India has been steadfast in its commitment to non-proliferation, its relationship with the export control regimes has not been
without challenges. Discuss. Also, evaluate the importance of India joining export control regimes.
T 81 TR AR & Gl 379l FTaetrall & €6 6T &, olfshel aiTey =07 sqaeun3ii & AT 58 Fae goilicadl ¥ #Y @ 81 el dhifoiw) @y &, o
TIAOT ST T3 7 HRA & AIFATIT Gt o Hged ol Hediehe! hifaTT|
(Marks:10, 150 words)
Q.8.The social and economic conditions of Russia combined with the adversities of the First World War created the deathbed for the Czarist
Regime in Russia. Discuss.

s faea ger 1 faefifeiait & ary ary & & ararores Tur 3 Reufaal @ &6 F SR & A6 & [&4=er o1 MR GAR & =t Hifsre
(Marks:10, 150 words)

Q.9.What were the conditions that favored imperialism in Asia and Africa? Discuss the long-term impacts of imperialist control on the countries of
Asia and Africa.

iR 3R 3Pt F FHETCIATE &Y SraT &oF aTel TRTEATIAT i T 2?7 TRIT gUT 3nHh ¢t TR THETIAET [ FT & Ereiehrelld YHTaT T T

HIaT)
(Marks:10, 150 words)

Q.10.The factors leading to the First World War were not only rooted in imperialism but also in past hostilities, ethnic troubles and internal social
tensions. Examine.
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SH 3R T o YW HRUN A T3 el WHTSIAIG H 81 Ae! o Il T T, FEdIET STATST T HicAReh HHAToTh cfefra 31 off g & wdraror
ST
(Marks:10, 150 words)
Q.11.Though the League of Nations made significant contributions in the field of socio-economic development but it failed in its objective to maintain
world peace. Explain. What made the United Nations, formed after WWII, a more successful body than the League of Nations?
e oM HTh AH o FrATTH-311 e Fa1fy & v 7 Fgeaqot Aerere fonar, fhg faea 2nifdr &t 9o T@e & & &t ured &Xe # 38 fawerdr g1y
oM | SATET Y SFAT faRd etr o TR IS HYerel IS HET, olaT JiTth w1RIe hi UET FaT 37TeIeh Hhel T6T?
(Marks:15, 250 words)
Q.12.The ‘Policy of Appeasement’ adopted by major western powers encouraged a blatant disrespect of sovereignty and treaties before the Second
World War. Comment. How did this prepare the ground for the Second World War?

Fo vAE afReH Al earT 9=TS 7 ‘ToEraoT S AN F efacy faed Jeur & & FUS[ar qur ARl & wi e foREhR @1 dicarfed foar)
froquit ST meaﬁ?ﬁﬂﬁgamﬁmw?\wﬁmv
(Marks:15, 250 words)
Q.13.Implementation of the language provisions in the Constitution proved to be a formidable task even though the Congress party was in power all
over the country. In this regard, discuss the challenges and the manner in which the language issue was resolved.
QX &2 3 I A1l & FAT H TG & 1[G, HIAT 3 AT He Feiet T e Uk goe F (et §3T| 9 Hash , HINTS Heg! & FAT &
aﬁﬁamsﬂ#m#mma#ﬁﬁwaﬁrmm
(Marks:15, 250 words)
Q.14."The New Deal did not rescue USA from depression, it was only the Second World War which brought an end to it'. Examine.
T ST (77T FHSAT) $f HIFT AT IANHT hT HETHG! A LT a1 Hehr, 8k 3T T AT sherel ST TaRT I T &1 STl &1 TeTor e
(Marks:15, 250 words)
Q.15.Non Alignment was not only about neutrality or staying away from military blocks, it meant having the freedom to decide each issue on its own
merits. In light of this statement, examine how India played an active part in international affairs before the breakup of the Soviet Union.
T[C-TATAETAT T Y halel TCEYT AT HfeTeh [T F IHelaT TGl &1 A6 T AT, Al HhT 7Y Fedeh Heg I IHeh! TG T FARNTAT o TR W FERT 0t &1
FIAAAT Y AT | 38 FHYT & 3HTelleh H 3 TTc T GA&T0T AT o o TR TR o Afaad T & faeest & qd arsE ArAel 37 T Ao sffamr
IGEIC)
(Marks:15, 250 words)
Q.16.1t has been argued that unlike the wars in 1962 and 1971, the war in 1965 was indecisive and brought neither victory nor peace to India.
Critically analyse the proposition and also highlight how the experience of 1965 was helpful in the war of 1971.
Ig a fam aran § f 1962 3R 1971 & geut & fawdiar 1965 &1 Jeur 3ifaviiaes o iR g8 R 1 o ot farr yerer & 3tk o & enfa) @ o &
FeETcA TaReIvoT HIfSTT iR 58 72T TR TehIer ST 7o 1965 T IH7d 1971 & el H Fohdy TehR TETI TgT?
(Marks:15, 250 words)
Q.17.'The primary concern of the Gulf War was not international justice but self-interest'. Do you agree? Support your stance with events leading to
the war and its aftermath.
WIS Jeu &7 AT TR AN 71T 7T afedh Ta-Re A7) FA7 319 3 0 8 FEA 62 J&U T ST Toll STA3 AT $HF TROTHAT & TR
T 391 deh T FHL HITAT|
(Marks:15, 250 words)
Q.18.Briefly discuss the issues that led to the rise of ethnic insurgency in Sri Lanka in the 1980s. How did the Indo-Sri Lanka Accord attempt to
address them?
1980 & G2Te 3 AT 7 AT HAIIAIG & 3GHT o foll [TFAGR HRHT HT HiaTed TdT HIFSTT | ART-HTeioh TAS T & ATCIH F Fhd THR FHHT
FHTT FE] T e T FhcaT fohar Irar?
(Marks:15, 250 words)
Q.19.Enumerate the reforms undertaken during the Gorbachev era and explain the reasons for undertaking these. To what extent could these
reforms be held responsible for the breakup of the Soviet Union?
AN & Siehlel o SRl fohT a7 FERT T afuld HITTT AR So¢ IR Al & HRUI T AT HITIV | AT T & Taeeet & foIw 5o Gt o1 e
AT ek [SFAGR SEIT ST HehT 672
(Marks:15, 250 words)
Q.20.While the impact of French Revolution was largely limited to the European countries, the Russian Revolution had a much wider impact across
the globe. Critically analyse.

TEIT SHTEE sHifcl T THIT HIHY & cieh AT ERiT b FTAT AT Foheg T 5hifct ohr ARereaTdy a1 g31T AT TeAre=ilcaeh faReryor ATy
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